SOLM 3

1000

vrr.rrss)

T N
SOLM 1 +0.700 \ / A SOLM 1
RAT=% RAT=%
i~ +6
+5.200 ’ +5.537 +5.537 7 / +5.200
—— L v o
275100 5.100 |
g ) e ’ N
S5-3 - 54 S5-3
+4.200 : +4.200
+4.200
+3.800 I +3.800
=] m|
+3.300 DR VST KAT-3/2A +3.300
~ VL1 VL1 3.000 o F3100
S — = s VAVAVAVAVAVAVAVAVAVAY,
TR T RS TS T R T S M ANNCUNN T INNERNNT VAN CNNNON AN
o AN PR > P oo — - AN PN
: +2.650 S +2.650 : ] ss-1/1 +2.630f..;
2100 || g | 2100 :
SS-2 SS-2 R ss-2 [ R
VS-1 _ 7 =
~0.100 o 000 [P [>- : 1000 |2 [ P70 : P K o100
I v A AT T 7T T THTTTRT J THT 7 BT T 7 FT 7 TZY Ad L EL L TRLZ L Z T 777 T 77 B 7 FT 7 TH 77 P 77 P 7 7R 7 77 X7 L 7 el 1 L S S SR S E i ST RS ST S SO LU0, SRS UGE U SOE SRR S RSN IS NSNS C D A v
\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/,A WW _
L S




